Maths puzzles to do at home m

1 burger and 1 tea cost £2.
2 fruit salads and 2 burgers cost £7.
1 fruit salad and 2 teas cost £3.

What must you pay in total for 1 burger, 1 fruit
salad and 1 tea?

What does each item cost on its own?

Write your answer and bring it to school.

Solution: Carlo’s café

One way to solve this puzzle is to add up all the given costs.
This is a total cost of £12 for 3 burgers, 3 fruit salads and 3 teas.

So the total cost of a burger, a fruit salad and a tea is £4.

From the first statement you can now work out that a fruit salad costs £2,
so a tea costs 50p and a burger costs £1.50.
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